

**MONTH : JANUARY** 

SESSION : 4

CLASS :V

SUBJECT : MATHEMATICS

CHAPTER NUMBER: 19

CHAPTER NAME : MONEY

SUB-TOPIC : EXPRESSING MONEY IN FIGURES AND WORDS.

EXERCISE 19A

**CHANGING YOUR TOMORROW** 

Website: www.odmegroup.org Email: info@odmps.org Toll Free: 1800 120 2316

Sishu Vihar, Infocity Road, Patia, Bhubaneswar- 751024



### **LEARNING OBJECTIVE :**

**Enable learners :** 

•To identify and read out the names of money notes and coins.

•To know about the currency of our country.

- •To write money in figure and word
- •To convert rupees to paise and vice versa





Money used by a country is called its **CURRENCY**. Indian currency consists of **Rupee** and **Paise**.

it is the symbol used for Indian currency rupee. We write ₹ 45, ₹ 100 or ₹ 300.



We use paper made notes as well as metal coins to buy things of our use and pay our bills.







2

#### Expressing money in figure and words.

- a. ₹ 56.98 = Fifty-six rupees and ninety-eight paise
- b. ₹ 2695 . 50 =Two thousand six hundred ninety-five rupees and fifty paise

#### Similarly

- a. Two thousand six hundred ninety-five rupees and fifty paise = ₹ 56.50
- b. Fifty-six rupees and ninety-eight paise =₹ 2695.98





#### **Conversion of rupee to paise**

₹512 =

- ₹I=100 p
- ₹512 = 512 x 100 = **51200** p

₹ 56.85 =

₹ I = 100 P

₹ 56.85 = 56.85 × 100 = **5685**p

#### **Conversion of paisa to rupee**

18400 p

I00 <sub>P</sub> = ₹ I

18400 <sub>P</sub> = 18400 ÷ 100 = ₹ 184

23445 р

I00 <sub>P</sub> = ₹ I

23445 p = 23445 ÷ 100 = **₹ 234.45** 



₹700.60

₹250.75

- I. Express the following in figure.
- a. Rupees twenty three and thirty paise =  $23 \cdot 30$
- b. Rupees two hundred fifty and seventy five paise
- c. Rupees seven hundred and sixty paise
- d. Rupees sixty four and five paise = ₹ 64 . 05
- e. Rupees five thousand eight hundred thirty five and sixty five paise=
- ₹ 5,835 . 65



₹





#### 2. Express the following in words

a. ₹43.25 =	Rupees forty three and twenty five paise
b. ₹237.40 =	Rupees Two hundred thirty seven and forty paise
c. ₹I7.85 =	Rupees seventeen and eighty five paise
d. ₹463.05 =	Rupees four hundred sixty three and five paise
e. ₹ 368 .75 =	Rupees three hundred sixty eight and seventy five paise





#### 3. Convert the following into paise

- a. ₹ 42 . 30 = 42.30 × 100 = **4230 p**
- b.₹436.45 = 436.45 x 100 = **43645** p
- c. ₹ 465 . 25 = 465.25 × 100 = **46525** p
- d. ₹ 5681.25 = 5681.25 x 100 = **568125** p
- e. ₹ 64.75 = 64.75 × 100 = 6475 p

















## Complete Exercise 19 A in the copy.





#### **Students are able:**

- To identify and read out the names of money notes and coins.
- •To know about the currency of our country.
- •To write money in figure and word
- •To convert rupees to paise and vice versa



# THANKING YOU ODM EDUCATIONAL GROUP